WrFEFER
— NEAFR —

2HH 6H13H (H)
9:00~10:00
[y arl] BT EETBHE o o o o o o o o o 00 0 55 E =
JER: BEE AARTERFERS
NEET  BREH RS EESR
01 —BFFRICI N TRl ABEE DR LT 5 AR AT
OrEAZE" /JEiEt?
1) RRRFER 2) MmEks )R Ty — K%
0-2 BHEEBHEERT O FESR 77 7 /s & MEAS 9 2 JRBRA - HPE 1T Aot NE & BT -
O EmT" Sulismt?
1) FLIRERI K AL RE R SRS 2) KRB E S E R
0-3 /NEMABIE ORI 2B HEBICB T 2 Hat
OHEMEF
W5 P o S o S T Sl B

(B alr2] AUHILAJLA o e e e e e e e e e e e 56771 =
JER: IEEIL HBEBI AU TF—a r KRE-RFEREV A Y F—3 g UF2R
KEHE— BAKEZ Y=y
0-4 HAZFRFAEDO NEFFRHAEE] 285 LHAOZ L
o w" FE®m? Ew? wo o= gy gY
1) KIRPESRF ABIBREE 5 2) b S5 ks il A= ol
3) FRIE L TR
0-5 HEMZ IR L Ui BT nam kg bz 2 8
O LB £
PESERER R AR~ R A v M
06 KFAEIBITAX LA NLT s T—FITFT T D
ABRVASRY A FRIBRICET A5
OfgEfE ") WAt mhmE?
1) MEZERET A 7~ A L FER
2) UM RFERFBE AR AR R

[BEyiar3] alia=l—Tal « 0 oo oo v oo 57 ¥HE =
JER: mARER  BARRHTFHEBNREFR LN
B SE T B R E A R R
07 BEHEBEm I 2= — a L OERDHAM
OARIEFH: M EER
TEIE K R W e R R R B
0-8 HEREMERZEE WIS 2 459 2 milnE ~OHER B 7RI TENEE O it
OBFfi # @EffsoX
THE G IR 7 UL AR R R 2 K T vl i T v R
09 HBE-—FHMBOI 2=/ —3 3 VO —RIASIZ L A2 2EFESHH—
OmEHAFY EBmMAETY wHNOA0Y  F e
1) BmEEE  2) R EHERY: 3) BEERKE



10:00~11:00
[Byvarda] LML e e e e e e SEESCE
R Hbs P TR # R
KAFE  H DGR
0-10 HAE DB AT EEFATE & LCOWEX DBEEOIHE Y
O 4
TR B N7 6 A2 A ) B B R 2 B
0-11 BEEROMESEITEBEEOKSER L BTz HONT
O’ Risze) BEEHTY  WMEENRY
1) BEEKFEZMAEER 2) ERHEZ Y=
0-12 WBJEIHBE O R MR RATE T
Ok KET M% 14
R R BEIE P8 e

[“[Z v ah :| E{%}}Elt\fﬁ .................. 56%%5
FER: LAET  BhfEE Bt ER R
AEAE IR AR ALK R T R
0-13 B DBISAIC 51T 2 LB & OB ZE D2 E
OlpeY #mEKk?
1) BlERERER  2) BEEERS
0-14 BEFRIFE BB OKE J OV ERF M & HoAlcefiE & oo 58
OMMERT AV
LR BN N TN LI APeN SRy T
0-15 BERIFEBE~DT A 7 « v U TERLEEIC L HEFMADLE
OkirfatT ! fAaemE? s Tr?
WASET)  HEIEX3)  AHEEE3)  AWEM3)  hEK3)
1) BERSE 2) S ARFERFERARBAREHER 3) TENRZ Y=y

v 7
[y a6l EASEF T T A e e v e e e e e e e e BT =R

FER: WA SIERS

LREET WA RFFREFL
0-16 KBREZE DD RIZEASET 1 75 A DK E L 3,8 O R

OMtliEE"Y [ £ERY  Bisie?

1) BEERZEZEMREFHEESTR  2) BEKRZEEZDREER
0-17 —FEL T FEITKT D 2E SR T 5 0F5E

~EASE (A —R) 71 7' T L DI Nl LT~

Ois=r ! WMEEN? Bigre?

1) BEERZEZMREFHEEZTR  2) BEKRZEEZDBREER
0-18 —FERIFHEE DITHIERICKT S

EASEZ' 11 7T L% iE A L2/ ADEFE & = Ot R

OKRBFEMNE "B -OX

THE G IR 7 IR AR R R 2 K vl i T v R



